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3.1
3.2
1100m*/s
3.3
3.4
4
100
2km 3km
AL=An=80
A= A= 8.944
A o= A n?= 57243.34
Aoz A= 2.076
Ae= A /A v= 8.944
AN— A— Av— A o— Ao —
A ¢ —
5 1
m3/s) 50 | 100 | 200 | 300 | 400 | 500 | 600 | 800 | 1000 | 1200
1.0]1.7] 2.7] 3.4 [3.92] 4.4
(m) 3.1113.2113.55] 3.9 | 4.3 | 4.7 ] 5.1 15.87|6.65[7.42
11.13(m)
(m 0.2 (0.5]1.0]1.5[2.0]25]3.0
0.79]1.43(2.21]2.88|1.85(5.86|6.79
© 2.60(3.06)4.65[5.45[6.47|7.38([8.12
1
6
6.1
6.1.1
7.80m 1100m’/s
11.13m 1733m’/s
1100m°/s 2.5m 1223m°/s
2.3m 1128m°/s 9.0m
2.6m 1100m°/s 2 3
Q = -2.2557 %+ 232.85 Z -579.33
e=0.5m Q =-1.9573Z *+ 60.764 Z -121.99
e=1.0m Q = -4.4103Z *+ 117.94 7 -248.73
e=1.5m Q = -4.9547Z *+ 153.88 Z -322.94
e=2.0m Q =-5.3892Z *+ 179.72 Z -359.70
e=2.5m Q =-5.8006Z °+ 217.04 Z -473.76
e=3.0m Q = -6.4465Z *+ 264.16 Z -632.70
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7.78m 1100m’/s
11.13m 1737m’/s
1100m*/s 2.5m
1206m°/s 1100m°/s 2.3m
9.0m 1100m°/s 2.5m
2 3
Q = -2.4909Z 2+ 2336.95 Z -591.90
e =0.5m Q =-1.8823Z °+ 58.489 Z -117.20
e=1.0m Q = -4.1027Z *+ 112.35 Z -230.92
e=1.5m Q = -5.2232Z *+ 158.34 Z -345.33
e=2.0m Q =-6.1563Z °+ 192.95 Z -406.74
e =2.5m Q = -6.3736Z °+ 223.90 Z -496.42
e =3.0m Q =-6.6116Z °+ 266.30 Z -644.10
2
m]| 3] 4 5 6 7 8 9 10 11 12
99 (316529 737[940] 1139 1334 | 1524 1709 | 1890
(m3/S) 971316[539]740) 9451144 (1339 152917171893
2.3m Q079 |2l ofw[3]s] s[5 [s5[s]3s
1100m*/s
6.1.2 3
(m) 11.13
(m|o0.5] 1 |1.5] 2 |2.5] 3
312 [ 518 | 776 | 985 | 1223 | 1509
1 4.5m (m’/s) | 301|511 770|978 1206 | 1501
40 486m/s 0 0 (m/s) [-11] -7 -6 -7]-17] -8
4
Q =39.5997 * 4
(m [1.0/1.5/2.0][2.5/3.0]|3.5[4.0[4.5
-0.5m (n’/s) | 40 | 78 | 126 182 247 320 | 399 | 486
0.5m
4
6.2
6.2.1
11.13m 0.2 3.0m
0.2 1.0m
-0.54m/s
1.5 3.0m
0.45 2.41m/s
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0.2m

2.05m/s
1.76m/s
6.2.2
0.61
2.23m/s

2.03m/s 1.78m/s
6.2.3
100m*/s
0.75m/s
200 500m’/s
0.05m/s
2.14m/s 1.53m/s
6.3
6.3.1
11.13m

0.2 3.0m
1.32m/s 1.0m
2.79m/s
6.3.2
2.47m/s
6.4
6.4.1
4.5m
4.5m

6.1.1
6.4.2

Z =11.13m e=0.2m Z = 1.85m
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7.1

7.2

7.3

[1]
[2]

N N N N N N

2.3m

11.13m
11.13m
11.13m
11.13m
11.13m
11.13m

e =0.5m
e=1.0m
e =1.5m
e=2.0m
e=2.5m
e =3.0m

N N N N N N

vV IV IV IV IV IV
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4.65m
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0.2m

1100m*/s
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40 486m°*/s
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